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| Semester B.Com. Examination, November/December 2015
(Fresh + Repeaters) (CBCS) (2014-15 and Onwards)

LANGUAGE SANSKRIT - |
Yaksha Prashna Sangraha, Grammar and Comprehension

Time : 3Hours Max. Marks : 70

Instructions: 1) Answer in Sanskrit, Kannadaor English.
2) Answer questions I, V and VI in Sanskrit only.

(1 0)(1:10)

. = 3w foda
L0030 m_égddﬁgt 30 LWTOAO
Select the correct answer :
1) =& fob a7
3) HETHTAH AT) gEchAr %) UHHUH é)wl
2) 94 ; FHE 9T; 7
H) THRIE ) foey QR 3) HeMEEE  3) fEdivdwe
3) GEMYMRA ahid Jollehl: afd 7
3) 6,800 3) 8,800 3) 24,000 3) 1,00,000
4) 4TSt d99: o 7
) TH: ) I 3) ¥fim: g) =l
5) &AM ATGH, g8 o faeTam 7
3) T CHICIBIEE 3) TH: %) Heea:
6) 3TE & 3l oh: 37deq ¢
) 4. 3T) e g) U&4: 3) <4
7) gehlet: &g A1 7
) AL ) GATIT 3) PO 7) e
P.T.O.
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8) UHIH: &h: ¢

37) sffmas: 1) TEHA: 3) IS 3) grafest
9) & ufvgd: II; 7

H) . 3T) ATfedeh: 3) 9T 3) 9
10) SgiHssRt: foh oiwd 7

) g@ ) 3@ %) o 3) T

. g Iy I ford | (2x10 = 20)
STT TR SUBOR::
Answerany two questions :

1) HEWMHaR faeaaisad ga-4 forad |
OTOLIOVBTS &)a}ﬁssi 3003 T200T LTOWD.
Write an essay on the development of the Mahabharatha.
2) B, YTqH g2 ierfedt: o faeremd 7 guled |
B30T JBRETTTR), SRR CRVATIO Ten QOLATIR 7 QTOR.

How did Yudhishtira lament on seeing his brothers dead 7 Explain.
3) Fed-glafedwt: g a forEd |
crbi— MQ%G VRO @ﬁ@{e@j dr\’%fdg{ AoN,8 2ITCA0.

Summarise the questions asked by Yaksha and answers given by
Yudhishtira.

|11, SFITOTT YA TG Fedl TIJu[d | (3x4=12)
SORT BRETNTEY, LRI IO

Translate and explainany three slokas.

1) ¥ 25¥] &M Y-, HHITA—a=gdm !
T~ TEIITC IS TR ||

2) ﬂﬁ&]ii?lfl(?ﬂl@ﬂﬂ%ﬂ{mql; |
O fa g foF Sremuataar: ||
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3) Fefisentey vg o Arfergefl So=: |
gad Fedr: 99 9rawd qErsTd: ||

4) w1l gawar fis vt firg 2 w4 |
AT YNEva gF 103 Afead: ||
5) a9 ST g Fense qaTde |
Yy 9Oony J el dg ey ||
V. gat: IR Wﬁﬁ?{l"ﬁl (2x4 = 8)

T mﬁsm’@«ﬁi DOTLIF AT VIO,

Explain with reference to contextany two sentences.
1) ST Gay o Sed e |

2) HAHHU=AYT faehd Ad SR |

3) e gadT: oA UTferaT: Jidd; |

4) 9 YT J=5dT AR |

V. T%ha YT 3w forad |

a) gsETT fors favfed = foraq ! (5x1=5)
1) qEHH
2) H;
)
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(5X1 =5)




